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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2018 

ELECTIVE COURSE : COMMERCE 
ECO-014 : ACCOUNTANCY-II 

Time : 2 hours 	 Maximum Marks : 50 

Weightage : 70% 

Note : Attempt any four questions including question 

no. 1 which is compulsory. 

	

1. 	Attempt any two of the following questions. 	7, 7 

(a) State the rights of a hire vendor in case of 

default by the hirer in payment of 

instalments. 

	

LCD 	(b) Explain the rule of Garner Vs. Murray with 
CD 

an example. 

(c) Show how unrealised profit in case of 

Departmental Accounts is worked out and 

accounted for. 

(d) What do you mean by debentures issued as 

a collateral security ? Describe their 

accounting treatment. 
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2. On December 31, 2014, the Trial Balance of the 12 
Lucknow branch stood as follows : 

Debit 

Stock on Jan. 1, 2014 	1,20,000 
Furniture 	 48,000 

Credit 

Debtors 1,12,000 
Goods received from 3,20,000 

Head Office 
Salary and other expenses 44,000 
Cash in hand 36,000 
Head Office A/c 2,20,000 
Sales 4,56,000 
Sundry Creditors 4,000 

6,80,000 6,80,000 

Stock on December 31, 2014 was 92,000. 
Prepare Memorandum Branch Trading and 
Profit and Loss A/c, and pass the necessary 
journal entries to incorporate the Kanpur branch 
balances in books of the head office. 

3. A and B are partners sharing profits and losses 
in the ratio of 2 : 1. It is agreed that A should 
retire and his son G should join the firm and be 
entitled to 1/3rd profits of the firm. The balances 
in the books of A and B were as follows : 

12 

Creditors 80,000 Land & Bldgs 5,00,000 

Bank Over draft 1,30,000 Furniture 70,000 

Capital Stock 90,000 

A 3,80,000 Debtors 1,20,000 

B 1,90,000 

7,80,000 7,80,000 
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For the purpose of A's retirement and G's 
admission the assets of the firm were revalued as 
land and Bldgs Z 6,50,000; 
Furniture Z 55,000; Stock Z 85,000; and Debtors 
Z 1,00,000. Other terms agreed were that enough 
money should be introduced to enable A to be 
paid out and leave Z 50,000 for working capital 
after paying off bank overdraft, and that B and 
G should respectively provide such sums as would 
make their capitals proportionate to their shares 
of profit. A agreed to make his son a gift by 
transfer from his capital account of half the 
amount which G had to provide. 
Prepare Revaluation A/c, Partners' Capital 
accounts and new Balance sheet of the firm. 

4. (a) How do independent branches deal with 4, 8 
'goods in transit' and 'cash in transit' in their 
books of account. 

(b) Explain the purpose of calculating the 
following ratios, and show with examples 
as to how will these be computed : 

(i) Return on Capital Employed 
Stock Turnover Ratio 

5. (a) Z Ltd. purchased a machine on hire 6, 6 
purchase from Y Ltd. on January 1, 2012 
paying Z 32,000 cash down and agreeing 
to pay three annual instalments of Z 32,000 
each on December 31 every year. The cash 
price was Z 1,19,200. 
Compute the amount of interest included 
in each instalment, and prepare Hire 
Vendors A/c (Y Ltd.) in the books of Z Ltd. 

(b) Explain briefly the uses of Fund Flow 
statement. 
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6. 	(a) Explain briefly the procedure of forfeiting 6, 6 
shares for nonpayment calls. 

(b) S, who holds 100 shares of Z 10 each in 
Z Ltd. had paid only application money of 
Z 2 per share. The amount called on 
allotment was Z 3 per share. T, who holds 
150 shares of the company, failed to pay 
the first call of Z 3 per share and so also the 
second and final call of Z 2 per share. 

All the above shares were forfeited after the 
second and final call has been made, and 
were subsequently reissued for Z 7 per share 
as fully paid. 

Give the necessary journal entries in the 
books of the company. 
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